



1839 Atchison Drive Norman, OK 73069

Phone: 405 573-3048, Fax: 405 579-4964

DATE:

December 11, 2023

INVOICE #:

23-JP301

LIC #80000972

Bill To:

City of Norman - Transit Center 320 East Comanche Street Norman, OK 73069

| DESCRIPTION | | AMOUNT |
|--|------|----------|
| Cavins Environmental responded to an after hours Category 3 (sewage) water loss at the Norman Transit center on 10/26/23. Cavins performed extraction, demo, and decontamination. Cavins plumbing assisted with sewer line locates, demo of old sewer lines, and replacement. Cavins electricians assisted with installation of a new grinder pump. After inspections were passed, concrete was poured, build back, and cleaning were completed. Please refer to daily reports for additional information. | | |
| Thursday, October 26, 2023 - After Hours | | |
| - Project Manager: 2.25 hours x \$230/hr (after hours) | \$ | 517.50 |
| - Field Administrator: 1.25 hours x \$160/hr | \$ | 200.00 |
| - Lead Remediation Technician #1 : 6.25 hours x \$200/hr | \$ | 1,250.00 |
| - Lead Remediation Technician #2: 6.75 hours x \$200/hr | \$ | 1,350.00 |
| - Lead Remediation Technician #3: 6 hours x \$200/hr | \$ | 1,200.00 |
| - Apprentice Remediation Technician: 6.75 x \$135/hr | \$ | 911.25 |
| - Plumber: 1.5 hours x \$250/hr | \$ | 375.00 |
| - Mobilization/Demobilization Fee (one time) | \$ | 360.00 |
| - Extraction Truck: 1.75 hours x \$480/hr | \$ | 840.00 |
| - Dumpster | \$ | 550.00 |
| - Antimicrobial Treatment and Fogging: | \$. | 95.00 |
| Friday, October 27, 2023 | | |
| - Project Manager: 1.25 hours x \$145/hr | \$ | 181.25 |
| - Assistant Project Manager: 2.25 hours x \$99/hr | \$ | 222.75 |
| - Lead Remediation Technician: 7 hours x \$125/hr | \$ | 875.00 |
| | | |

| Monday, October 30, 2023 Supervisor: 3,75 hours x \$125/hr \$ 198.00 | | | |
|--|---|----|----------|
| - Assistant Project Manager: 2 hours x \$99/hr | Monday, October 30, 2023 | | |
| - Plumber: 7 hours x \$155/hr | - Supervisor: 3.75 hours x \$125/hr | \$ | 468.75 |
| - Apprentice Plumber: 4 hours x \$85/hr \$ 340.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 - Video Pipe Inspection: 3 hours x \$225/hr \$ 675.00 Tuesday, October 31, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Assistant Project Manager: 5 hours x \$99/hr \$ 49.50 - Construction Technician: 4,5 hours x \$125/hr \$ 562.50 - Construction Apprentice: 7,75 hour x \$85/hr \$ 58.75 Wednesday, November 1, 2023 - Supervisor: 5,75 hours x \$125/hr \$ 1,240.00 - Apprentice Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 50.00 - Office Administrator: .5 hours x \$85/hr \$ 50.00 - Office Administrator: .5 hours x \$85/hr \$ 50.00 - Office Administrator: .5 hours x \$85/hr \$ 50.00 - Office Administrator: .5 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Office Administrator: .5 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 50.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 50.00 | - Assistant Project Manager: 2 hours x \$99/hr | \$ | 198.00 |
| Equipment: - Jack Hammers: 2 x \$131/day - Video Pipe Inspection: 3 hours x \$225/hr Tuesday, October 31, 2023 - Supervisor: 8 hours x \$125/hr - Shours x \$200/hr (after hours) - Assistant Project Manager: .5 hours x \$99/hr - Construction Technician: 4.5 hours x \$125/hr - Construction Apprentice: 7,75 hour x \$85/hr Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr - Assistant Project Manager: .5 hours x \$99/hr - Apprentice Plumber #1: 8 hours x \$99/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr25 hours x \$200/hr (after hours) - Office Administrator: .5 hours x \$95/hr - Plumber 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Se80.00 - Apprentice Plumber #3: 8 hours x \$85/hr - Se80.00 - Apprentice Plumber #3: 8 hours x \$85/hr - Se80.00 - Apprentice Plumber #3: 8 hours x \$85/hr - Se80.00 - Apprentice Plumber #3: 8 hours x \$85/hr - Se80.00 - Apprentice Plumber #3: 8 hours x \$85/hr - Se80.00 - Apprentice Plumber #3: 8 hours x \$85/hr - Se80.00 | - Plumber: 7 hours x \$155/hr | \$ | 1,085.00 |
| - Jack Hammers: 2 x \$131/day \$ 262.00 - Video Pipe Inspection: 3 hours x \$225/hr \$ 675.00 Tuesday, October 31, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Assistant Project Manager: .5 hours x \$99/hr \$ 49,50 - Construction Technician: 4.5 hours x \$125/hr \$ 562.50 - Construction Apprentice: 7,75 hour x \$85/hr \$ 568.75 Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr \$ 718.75 - Assistant Project Manager: .5 hours x \$99/hr \$ 49.50 - Plumber: 8 hours x \$125/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Concrete Cutting Service - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Office Administrator: .5 hours x \$95/hr \$ 1,000.00 - Office Administrator: .5 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 | - Apprentice Plumber: 4 hours x \$85/hr | \$ | 340.00 |
| - Jack Hammers: 2 x \$131/day \$ 262.00 - Video Pipe Inspection: 3 hours x \$225/hr \$ 675.00 Tuesday, October 31, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Assistant Project Manager: .5 hours x \$99/hr \$ 49,50 - Construction Technician: 4.5 hours x \$125/hr \$ 562.50 - Construction Apprentice: 7,75 hour x \$85/hr \$ 568.75 Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr \$ 718.75 - Assistant Project Manager: .5 hours x \$99/hr \$ 49.50 - Plumber: 8 hours x \$125/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Concrete Cutting Service - Supervisor: 8 hours x \$125/hr \$ 1,000.00 - Office Administrator: .5 hours x \$95/hr \$ 1,000.00 - Office Administrator: .5 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 1,240.00 | | | |
| - Video Pipe Inspection: 3 hours x \$225/hr Tuesday, October 31, 2023 - Supervisor: 8 hours x \$125/hr .5 hours x \$200/hr (after hours) - Assistant Project Manager: .5 hours x \$99/hr - Construction Technician: 4.5 hours x \$125/hr - Construction Apprentice: 7,75 hour x \$85/hr Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr - Assistant Project Manager: .5 hours x \$99/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr .25 hours x \$200/hr (after hours) - Office Administrator: .5 hours x \$95/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr | Equipment: | | |
| Tuesday, October 31, 2023 - Supervisor: 8 hours x \$125/hr | - Jack Hammers: 2 x \$131/day | \$ | 262.00 |
| - Supervisor: 8 hours x \$125/hr | - Video Pipe Inspection: 3 hours x \$225/hr | \$ | 675.00 |
| - Supervisor: 8 hours x \$125/hr | | | |
| .5 hours x \$200/hr (after hours) - Assistant Project Manager: .5 hours x \$99/hr - Construction Technician: 4.5 hours x \$125/hr - Construction Apprentice: 7,75 hour x \$85/hr Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr - Assistant Project Manager: .5 hours x \$99/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr - Plumber: 8 hours x \$125/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr - Plumber: 8 hours x \$125/hr - Plumber: 8 hours x \$155/hr - Plumber: 8 hours x \$155/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Equipment: | F-901 | | |
| - Assistant Project Manager: .5 hours x \$99/hr \$ 562.50 - Construction Technician: 4.5 hours x \$125/hr \$ 562.50 - Construction Apprentice: 7,75 hour x \$85/hr \$ 658.75 Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr \$ 718.75 - Assistant Project Manager: .5 hours x \$99/hr \$ 49.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service \$ 350.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.0025 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 Equipment: | - Supervisor: 8 hours x \$125/hr | \$ | 1,000.00 |
| - Construction Technician: 4.5 hours x \$125/hr \$562.50 - Construction Apprentice: 7,75 hour x \$85/hr \$658.75 Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr \$718.75 - Assistant Project Manager: .5 hours x \$99/hr \$49.50 - Plumber: 8 hours x \$155/hr \$1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$680.00 - Concrete Cutting Service \$350.00 Equipment: - Jack Hammers: 2 x \$131/day \$262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$25/hr \$1,000.0025 hours x \$200/hr (after hours) - Office Administrator: .5 hours x \$95/hr \$1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$1,240.00 | .5 hours x \$200/hr (after hours) | \$ | 100.00 |
| - Construction Apprentice: 7,75 hour x \$85/hr Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr - Assistant Project Manager: .5 hours x \$99/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr .25 hours x \$200/hr (after hours) - Office Administrator: .5 hours x \$95/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Equipment: | - Assistant Project Manager: .5 hours x \$99/hr | \$ | 49.50 |
| Wednesday, November 1, 2023 - Supervisor: 5.75 hours x \$125/hr \$ 718.75 - Assistant Project Manager: .5 hours x \$99/hr \$ 49.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service \$ 350.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.0025 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Equipment: | - Construction Technician: 4.5 hours x \$125/hr | \$ | 562.50 |
| - Supervisor: 5.75 hours x \$125/hr - Assistant Project Manager: .5 hours x \$99/hr - Assistant Project Manager: .5 hours x \$99/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr . 25 hours x \$200/hr (after hours) - Office Administrator: .5 hours x \$95/hr - Plumber: 8 hours x \$155/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Equipment: | - Construction Apprentice: 7,75 hour x \$85/hr | \$ | 658.75 |
| - Supervisor: 5.75 hours x \$125/hr - Assistant Project Manager: .5 hours x \$99/hr - Assistant Project Manager: .5 hours x \$99/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr . 25 hours x \$200/hr (after hours) - Office Administrator: .5 hours x \$95/hr - Plumber: 8 hours x \$155/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Equipment: | | | |
| - Assistant Project Manager: .5 hours x \$99/hr \$ 49.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service \$ 350.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 . 25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | | |
| - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service \$ 350.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.0025 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | · · | \$ | 718.75 |
| - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Concrete Cutting Service Equipment: - Jack Hammers: 2 x \$131/day Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr . 25 hours x \$200/hr (after hours) Office Administrator: .5 hours x \$95/hr - Plumber: 8 hours x \$155/hr - Apprentice Plumber #1: 8 hours x \$85/hr - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr - Equipment: | W | \$ | 49.50 |
| - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Concrete Cutting Service \$ 350.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 | 5 September 200 | \$ | 1,240.00 |
| - Concrete Cutting Service \$ 350.00 Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 .25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | \$ | 680.00 |
| Equipment: - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 .25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | \$ | 680.00 |
| - Jack Hammers: 2 x \$131/day \$ 262.00 Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 .25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | 9 | \$ | 350.00 |
| Thursday, November 2, 2023 - Supervisor: 8 hours x \$125/hr \$ 1,000.00 | | | |
| - Supervisor: 8 hours x \$125/hr \$ 1,000.00 .25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | - Jack Hammers: 2 x \$131/day | \$ | 262.00 |
| - Supervisor: 8 hours x \$125/hr \$ 1,000.00 .25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | Thursday Navarahan 2, 2000 | | |
| .25 hours x \$200/hr (after hours) \$ 50.00 - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | | 4 000 00 |
| - Office Administrator: .5 hours x \$95/hr \$ 47.50 - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | | i |
| - Plumber: 8 hours x \$155/hr \$ 1,240.00 - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | | |
| - Apprentice Plumber #1: 8 hours x \$85/hr \$ 680.00 \$ 680.00 \$ - Apprentice Plumber #2: 8 hours x \$85/hr \$ 680.00 \$ 680.00 \$ Equipment: | | | |
| - Apprentice Plumber #2: 8 hours x \$85/hr - Apprentice Plumber #3: 8 hours x \$85/hr Equipment: \$ 680.00 | | | |
| - Apprentice Plumber #3: 8 hours x \$85/hr \$ 680.00 Equipment: | | | |
| Equipment: | | | |
| | | Ъ | 680.00 |
| - Jack Hammers, 2 x \$151/day \$ 262.00 | 1 * * | ¢ | 202.22 |
| | - Jack Hammers. 2 x \$151/day | Ф | 262.00 |

| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
|--|----|----------|
| Friday, November 3, 2023 | | |
| - Supervisor: 8 hours x \$125/hr | \$ | 1,000.00 |
| .25 hours x \$200/hr | \$ | 50.00 |
| - Plumber: 8 hours x \$155/hr | \$ | 1,240.00 |
| - Apprentice Plumber #1: 8 hours x \$85/hr | \$ | 680.00 |
| - Apprentice Plumber #2: 8 hours x \$85/hr | \$ | 680.00 |
| - Apprentice Plumber #3: 8 hours x \$85/hr | \$ | 680.00 |
| - Office Administrator: .5 hours x \$95/hr | \$ | 47.50 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| - Dumpster Pulled and Reset | \$ | 550.00 |
| Monday, November 6, 2023 | | |
| - Supervisor: 8 hours x \$125/hr | \$ | 1,000.00 |
| 2.5 hours x \$200/hr (after hours) | \$ | 500.00 |
| - Office Administrator: .5 hours x \$95/hr | \$ | 47.50 |
| - Logistics/Procurement: 1 hour x \$95/hr | \$ | 95.00 |
| - Plumber: 8 hours x \$155/hr | \$ | 1,240.00 |
| - Apprentice Plumber #1: 8 hours x \$85/hr | \$ | 680.00 |
| - Apprentice Plumber #2: 8 hours x \$85/hr | \$ | 680.00 |
| - Apprentice Plumber #3: 8 hours x \$85/hr | \$ | 680.00 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| - Grinder pump, basin, and alarm system | \$ | 5,448.70 |
| Tuesday, November 7, 2023 | | |
| - Supervisor: 7 hours x \$125/hr | \$ | 875.00 |
| - Assistant Project Manager: 2 hours x \$99/hr | \$ | 198.00 |
| - Office Administrator: .5 hours x \$95/hr | \$ | 47.50 |
| - Plumber: 5 hours x \$155/hr | \$ | 775.00 |
| - Apprentice Plumber #1: 5 hours x \$85/hr | \$ | 425.00 |
| - Apprentice Plumber #2: 5 hours x \$85/hr | \$ | 425.00 |
| - Apprentice Plumber #3: 5 hours x \$85/hr | \$ | 425.00 |
| - Permit (Plumbing) | \$ | 74.50 |
| Equipment: | | |

| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
|--|----------------|----------|
| Tallow Hallo Golles. 7 X \$47day | l ^Ψ | 20.00 |
| Wednesday, November 8,2023 | | |
| - Supervisor: 2.5 hours x \$125/hr | \$ | 312.50 |
| - Assistant Project Manager: .5 hours x \$99/hr | \$ | 49.50 |
| - Plumber: 3 hours x \$155/hr | \$ | 465.00 |
| - Apprentice Plumber #1: 3 hours x \$85/hr | \$ | 255.00 |
| - Apprentice Plumber #2: 3 hours x \$85/hr | \$ | 255.00 |
| - Apprentice Plumber #3: 3 hours x \$85/hr | \$ | 255.00 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| , | | |
| Thursday, November 9, 2023 | | |
| - Project Manager: .5 hours x \$145/hr | \$ | 72.50 |
| - Supervisor: 6.25 hours x \$125/hr | \$ | 781.25 |
| - Assistant Project Manager: 3 hours x \$99/hr | \$ | 297.00 |
| - Construction Technician #1: 2.5 hours x \$125/hr | \$ | 312.50 |
| - Construction Technician #2: 2.5 hours x \$125/hr | \$ | 312.50 |
| - Field Administrator: 2.25 hours x \$99/hr | \$ | 222.75 |
| - Office Administrator: .75 hours x \$95/hr | \$ | 71.25 |
| - Logistics/Procurement: 2 hours x \$95/hr | \$ | 190.00 |
| - Electrician: 8 hours x \$155/hr | \$ | 1,240.00 |
| - Apprentice Electrician: 8 hours x \$85/hr | \$ | 680.00 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| | | |
| Friday, November 10, 2023 | | |
| - Supervisor: 3 hours x \$125/hr | \$ | 375.00 |
| - Construction Technician #1: 8 hours x \$125/hr | \$ | 1,000.00 |
| .25 hours x \$200/her | \$ | 50.00 |
| - Construction Technician #2: 2.5 hours x \$125/hr | \$ | 312.50 |
| - Plumber: 2.5 hours x \$155/hr | \$ | 387.50 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| Saturday, November 11, 2023 (After Hours) | | |
| - Construction Technician: 1.5 hours x \$200/hr | \$ | 300.00 |

| - Plumber: 4.5 hours x \$250/hr | | \$ 1,125.00 |
|---|------------|----------------|
| - Apprentice Plumber #1: 4.5 hours x \$135/hr | | \$ 607.50 |
| - Apprentice Plumber #2: 4.5 hours x \$135/hr | | \$ 607.50 |
| - Apprentice Plumber #3: 4.5 hours x \$135/hr | | \$ 607.50 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | | \$ 28.00 |
| | | |
| Monday, November 13, 2023 | | |
| - Supervisor: 1.75 hours x \$135/hr | | \$ 218.75 |
| - Construction Technician #1: 4.25 hours x \$125/hr | | \$ 531.25 |
| - Construction Technician #2: 4.25 hours x \$125/hr | | \$ 531.25 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | | \$ 28.00 |
| | | |
| Tuesday, November 14, 2023 | | |
| - Project Manager: 2 hours x \$145/hr | | \$ 290.00 |
| - Supervisor: 8 hours x \$125/hr | | \$ 1,000.00 |
| - Assistant Project Manager: .5 hours x \$99/hr | | \$ 49.50 |
| - Construction Technician #1: 8 hours x \$125/hr | | \$ 1,000.00 |
| 1.5 hours x \$200/hr | | \$ 300.00 |
| - Construction Technician #2: 8 hours x \$125/hr | | \$ 1,000.00 |
| 1.5 hours x \$200/hr | | \$ 300.00 |
| - Construction Technician #3: 2.75 hours x \$125/hr | | \$ 343.75 |
| - Construction Technician #4: 2 hours x \$125/hr | | \$ 250.00 |
| - Construction Apprentice #1: 2 hours x \$85/hr | | \$ 170.00 |
| - Construction Apprentice #2: 2 hours x \$85/hr | , | \$ 170.00 |
| - Construction Apprentice #3: 2 hours x \$85/hr | ♦ 3 | \$ 170.00 |
| - Field Administrator: 2 hours x \$99/hr | | \$ 198.00 |
| - Logistics/Procurement: 3.75 hours x \$95/hr | | \$ 356.25 |
| - Plumber: 2.5 hours x \$155/hr | t - | \$ 387.50 |
| - Concrete Pump Truck | | \$ 404.00 |
| - Concrete Delivery | | \$ 419.76 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | | \$ 28.00 |
| | | |
| Wednesday, November 15, 2023 | | |
| | | |

| V- | | |
|--|----|----------|
| - Supervisor: 5.75 hours x \$125/hr | \$ | 718.75 |
| - Assistant Project Manager: .25 x \$99/hr | \$ | 24.75 |
| - Construction Technician #1: 8 hours x \$125/hr | \$ | 1,000.00 |
| 1.75 hours x \$200/hr | \$ | 350.00 |
| - Construction Technician #2: 6 hours x \$125/hr | \$ | 750.00 |
| - Construction Technician #3: 5 hours x \$125/hr | \$ | 625.00 |
| - Construction Technician #4: 1 hour x \$125/hr | \$ | 125.00 |
| - Construction Apprentice #1: 1 hour x \$85/hr | \$ | 85.00 |
| - Logistics/Procurement: 4.75 hours x \$95/hr | \$ | 451.25 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| | | |
| Thursday, November 16, 2023 | | |
| - Construction Technician: 3 hours x \$125/hr | \$ | 375.00 |
| - Plumber: 8 hours x \$155/hr | \$ | 1,240.00 |
| 3 hours x \$250/hr (after hours) | \$ | 750.00 |
| - Apprentice Plumber #1: 8 hours x \$85/hr | \$ | 680.00 |
| 3 hours x \$135/hr | \$ | 405.00 |
| - Apprentice Plumber #2: 8 hours x \$85/hr | \$ | 680.00 |
| 3 hours x \$135/hr | \$ | 405.00 |
| - Apprentice Plumber #3: 8 hours x \$85/hr | \$ | 680.00 |
| 3 hours x \$135/hr | \$ | 405.00 |
| Equipment: | | × . |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| | | |
| Friday, November 17, 2023 | | |
| - Supervisor: 1.75 hours x \$125/hr | \$ | 218.75 |
| - Construction Technician: 3 hours x \$125/hr | \$ | 375.00 |
| Equipment: | | |
| - 42" Narrow Traffic Cones: 7 x \$4/day | \$ | 28.00 |
| | | |
| Monday, November 20, 2023 | | |
| - Assistant Project Manager: 1 hour x \$99/hr | \$ | 99.00 |
| - Construction Technician #1: 8 hours x \$125/hr | \$ | 1,000.00 |
| 2.5 hours x \$200/hr | \$ | 500.00 |
| - Construction Technician #2: 2 hours x \$125/hr | \$ | 250.00 |
| | 1 | 1 |

| - Construction Apprentice: 1.75 hours x \$85/hr | \$ | 148.75 |
|---|----|----------|
| Tuesday, November 21, 2023 | | |
| - Supervisor: 2 hours x \$125/hr | \$ | 250.00 |
| - Construction Technician #1: 8 hours x \$125/hr | \$ | 1,000.00 |
| 1.5 hours x \$200/hr | \$ | 300.00 |
| - Field Administrator: .75 hours x \$99/hr | \$ | 74.25 |
| - Office Adminstrator: .5 hours x \$95/hr | \$ | 47.50 |
| Wednesday, November 22, 2023 | | |
| - Supervisor: .75 hours x \$125/hr | \$ | 93.75 |
| - Construction Technician #1: 8 hours x \$125/hr | \$ | 1,000.00 |
| 1 hour x \$200/hr | \$ | 200.00 |
| - Office Adminstrator: 1 hour x \$95/hr | \$ | 95.00 |
| Friday Navambar 24, 2022 | | |
| Friday, November 24, 2023 | | |
| - Construction Technician: 8 hours x \$125/hr | \$ | 1,000.00 |
| 2.25 hours x \$200/hr | \$ | 450.00 |
| - Construction Apprentice: 8 hours x \$85/hr | \$ | 680.00 |
| 2.25 hours x \$135/hr | \$ | 303.75 |
| Saturday November 25, 2022 (After Hours) | - | |
| Saturday, November 25, 2023 (After Hours) | | 4 400 00 |
| - Construction Technician: 7 hours x \$200/hr | \$ | 1,400.00 |
| - Construction Apprentice: 4 hours x \$135/hr | \$ | 540.00 |
| Monday, November 27, 2023 | | |
| - Assistant Project Manager: 1.25 hours x \$99/hr | \$ | 123.75 |
| - Construction Technician: 4 hours x \$125/hr | \$ | 500.00 |
| - Logistics/Procurement: 1.25 hours x \$95/hr | \$ | 123.75 |
| - Plumber: 8 hours x \$155/hr | \$ | 1,240.00 |
| 2 hours x \$250/hr (after hours) | \$ | 500.00 |
| - Apprentice Plumber #1: 8 hours x \$85/hr | \$ | 680.00 |
| 2 hours x \$135/hr (after hours) | \$ | 270.00 |
| - Apprentice Plumber #2: 8 hours x \$85/hr | \$ | 680.00 |
| 2 hours x \$135/hr (after hours) | \$ | 270.00 |
| - Apprentice Plumber #3: 8 hours x \$85/hr | \$ | 680.00 |

| 2 hours x \$135/hr (after hours) | \$ 270.00 |
|--|----------------|
| Tuesday, November 28, 2023 | |
| - Construction Technician #1: 4.5 hours x \$125/hr | \$ 562.50 |
| - Construction Technician #2: 2 hours x \$125/hr | \$ 250.00 |
| - Construction Apprentice: 2 hours x \$85/hr | \$ 170.00 |
| Wednesday, November 29, 2023 | |
| - Construction Technician #1: 7 hours x \$125/hr | \$ 875.00 |
| - Construction Technician #2: 6.5 hours x \$125/hr | \$ 812.50 |
| - Construction Technician #3: 6 hours x \$125/hr | \$ 750.00 |
| - Construction Technician #4: 5 hours x \$125/hr | \$ 625.00 |
| - Logistics/Procurement: 1.5 hours x \$95/hr | \$ 142.50 |
| Thursday, November 30, 2023 | |
| - Construction Technician #1: 4.5 hours x \$125/hr | \$ 562.50 |
| - Construction Technician #2: 3 hours x \$125/hr | \$ 375.00 |
| - Construction Technician #3: 2.75 hours x \$125/hr | \$ 343.75 |
| Friday, December 1, 2023 | |
| - Project Manager: 1 hour x \$145/hr | \$ 145.00 |
| - Supervisor: 2.75 hours x \$125/hr | \$ 343.75 |
| - Floor Buffing and Sealing | \$ 795.00 |
| Tuesday, December 5, 2023 | |
| - Supervisor: .25 hours x \$125/hr | \$ 31.25 |
| Thursday, December 7, 2023 | |
| - Supervisor: 3.25 hours x \$125/hr | \$ 406.25 |
| - Construction Technician: 8 hours x \$125/hr | \$ 1,000.00 |
| Sunday, December 10, 2023 (discounted to regular hourly rates) | |
| - Office Administrator: 9.5 hours x \$95/hr | \$ 902.50 |
| flaterials: | |
| - Black Duct Tape (heavy duty): 3.25 x \$12.75/ea | \$ 41.44 |

| - Double Sided Tape: 3 x \$14.99/ea | \$ 44.97 |
|---|------------------|
| - Gator Guard Tape: 3 x \$11.38/ea | \$ 34.14 |
| - Protective Coveralls: 7 x \$18.48/ea | \$ 129.36 |
| - N95: 7 x \$1.77/ea | \$ 12.39 |
| - 1 gallon liquid antimicrobial: 1 x \$39.14 | \$ 39.14 |
| - 1 container antimicrobial wipes: 1 x \$39.50 | \$ 39.50 |
| - 10 x 100 6 mil plastic: 1 x \$54.08 | \$ 54.08 |
| - 1 box 3 mil trash bags: 1 x \$30.25 | \$ 30.25 |
| - gator guard (floor protection): 1 roll x \$68.78 | \$ 68.78 |
| - containment zippers: 3 x \$7.03 | \$ 21.09 |
| - gloves (by pair): 25 x \$0.26 | \$ 6.50 |
| - gloves (by box): 1 x \$13.04 | \$ 13.04 |
| - rags: 32 x \$0.34 | \$ 10.88 |
| - leather gloves: 3 x \$3.99/ea | \$ 11.97 |
| - P100 Filter: | \$ 12.78 |
| - Disinfectant Cleaner: 2 x \$5.53/ea | \$ 11.06 |
| - Caution Tape | \$ 10.56 |
| - Contractor Bags | \$ 20.65 |
| - Floor Scraper Blades: 20 x \$2.17/ea | \$ 43.40 |
| - Cutting Grinding Wheels | \$ 16.05 |
| - Super Glue | \$ 18.69 |
| - Plumbing Materials (pipe, fittings, connection materials, mop sink faucet, mop sink, floor drains | \$ 3,713.15 |
| - Electric Materials (10/2 M/C Cable, 10/2 90 degree connector, straight connector, 2" PVC, 2" Female ADP, 2" Karflex, 2" Karflex connector) | \$ 220.80 |
| Concrete Washout Bin: | \$ 52.11 |
| metal framing supplies, fire type drywall, screws, drywall joint compound, mesh tape, insulation, spray texture for touch ups, | \$ 791.78 |
| VCT flooring | \$ 898.49 |
| Primer and Paint | \$ 303.43 |
| FRP sheets, J trim, Seam pieces, caulking, adhesive, concrete adhesive, contact cement, spray adhesive, finish nails, caulking, utility blades, cove base adhesive, cove base, outlet cover, 3 1x10x8, electrical spacers, and powergrab adhesive | \$ 1,036.24 |
| Ceiling Tiles | \$ 360.04 |
| | |
| Subtotal | \$ 103,361.22 |
| 10% Overhand | |
| 10% Overhead | \$ 10,336.12 |
| 10% Profit | \$ 10,336.12 |
| | |

| *Payments are due by Friday at 5:00pm | |
|---|------------------|
| Please make check out to: Cavins Group | |
| This price is for cash, check, or Venmo payments only. If payment is via credit card, there will be an increase in price. | \$ 124,033.46 |

Payment due upon receipt of invoice, a 2% fee will be charged if payment is not received by Friday at 5:00pm.

THANK YOU FOR YOUR BUSINESS!